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QUESTION NO: 1 
 

What are two typical speeds of Ethernet networks? (Select TWO)
 

A. 100 Mbps

B. 4 Mbps

C. 16 Mbps

D. 10 Mbps
 

Answer: A,D

 

 

QUESTION NO: 2 
 

Why should toner that is in accordance with applicable regulations NOT be inhaled?
 

A. It is sensitizing.

B. It is a carcinogen.

C. It is toxic.

D. It may cause upper respiratory tract irritation.
 

Answer: D

 

 

QUESTION NO: 3 
 

A technician takes a page out of the Laser Jet printer. The print looks good but smears when the

technician picks up the paper. What is the cause of the problem?
 

A. fuser assembly

B. output roller assembly

C. damp paper

D. wrong type of toner
 

Answer: A

 

 

QUESTION NO: 4 
 

Which processor uses a Slot 1 configuration?
 

A. Intel Pentium II

B. Intel Pentium

C. AMD Thunderbird

D. AMDDuron
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Answer: A

 

 

QUESTION NO: 5 
 

On which two levels of RAID can only two hard drives be used? (Select TWO)
 

A. RAID Level 1

B. RAID Level 0

C. All RAID levels use only two hard drives.

D. RAID Level 5
 

Answer: A,B

 

 

QUESTION NO: 6 
 

Which type of cable does an Ethernet 100BaseT NIC (network interface card) with an RJ-45

socket use?
 

A. Thicknet

B. fiber optic

C. UTP CAT5

D. Thinnet
 

Answer: C

 

 

QUESTION NO: 7 
 

A user reports that while printing a large document, the local printer fails to print and the document

cannot be deleted from the queue. What is the MOST likely cause of the problem?
 

A. The computer cannot spool and send the print job fast enough.

B. The printer cable is not bi-directional.

C. The print job is too big for the amount of available memory.

D. The user does not have full printer administration rights.
 

Answer: C

 

 

QUESTION NO: 8 
 

Which I/O interface supports up to 127 devices per channel and transfer speeds up to 480 Mbps?
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A. USB 1.1

B. Serial ATA

C. USB 2.0

D. IEEE 1394a
 

Answer: C

 

 

QUESTION NO: 9 
 

Which type of computer port accepts IEEE 1284 compliant cable?
 

A. USB 2.0

B. Parallel

C. FireWire

D. Serial
 

Answer: B

 

 

QUESTION NO: 10 
 

Which device should NOT be plugged into a standard UPS (uninterruptible power supply)?
 

A. Laser printer

B. Ink Jet printer

C. external modem

D. monitor
 

Answer: A

 

 

QUESTION NO: 11 
 

What is the significant function of DMA?
 

A. stores the Address Frame table

B. expands the capacity of usable memory

C. transfers data without constant CPU involvement

D. directs security of data stored in memory
 

Answer: C
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